A
=0\

-
it
."?.—-’/ T

OEM TEMPERATURS SEMSOR
DECAL

el

=

I. Disconnect the negative batterv cable.

A.) Loosen the hose clamps that secure the flexible
intake tube to the factory air box and the 90 degree. el-
bow pipe. B.) Compress the flexible intake mbe and re-
move it from the vehicle. It will not be re used.

LT =
4. A.) Using an Smm socket, remove the two factory
air box bolts and set aside. The will be reused in step 11.
B.) Remove the factory air filter element.

7. Install the Filter Adapter to the inside of the Cool Air
Box, CAB (#2) using the three 1/4”-20 hex head bolts
(#6) and 1/4” flat washers (#7) as shown.

2N

,."I 2\
AssEME EDVIEW A 7/
/)/z:

F = iy7a
et { 0

\I\Q\

[y
W
s "‘V:h-‘*-—“j —OEMm AIR BOx BOLY (2X)

2.A.) Unfasten the factcry air box clips and separate
the upper half of the air box fiom the intake assembly.
B.) Disconnect the air temperature sensor.

5. Remove the factory aii box assembly from the vehicle.

Small side

8. A) Install the Humg Hose, large side first (#4) onto
the CAB tube. Loosely 11stall the #56 Hose Clamp (#10)
on the small side of the Hump Hose, and the #60 Hose
Clamp (#11) on the La-ge side. ( B) Slide the Hump
Hose and Clamps dowaward on the tube, creating a
compact assembly as shcwn.

E

Installation Instructions
For Part Numbers:

LPP451-260

2010-13 Ford Taurus SHO
2010-13 Ford Flex
2010-13 Lincoln MKS
2010-13 Lincoln MKT
3.5L V6 Eco-Boost

Component Identification

L. Windstorm Premium Dry Filter 1
2% Cool Air Box 1
3¢ Filter Adapter 1
4. Hump Hose Reducer 1
S. Weather Strip 26 3/8” I
6. Y-20x5/8" Hex Head Bolt 3
7 Y% Flat Washer 3
8 8-32 x 1/4” Button Head Bolt |
9. #8 x 53/4" O.D. Flat Washer |
10. #56 Hose Clamp i
11 #60 Hose Clamp 1
12. 1

Adapter Gasket

3. Using a pair of needle nose pillars, carefiilly compress
the fins of the wiring harness anchor and pull it out of the
air box lid.

6. Prepare the Filter Adapter (#3) for installation by posi-
tioning the Adapter Gasket (#12) on the mounting side
and lining up the holes.

9. Remove the Air Temperature Sensor fiom the factory
air box by rotating the sensor 1/4 turn counter clockwise
and pulling outward.


http://www.carid.com/livernois-motorsports/
http://www.carid.com/air-intakes.html

10. A) Transfer the factory Air Temperature Sensor
into the Windstorm Intake tube and align the sensor tab
with the Groove in the tube. B) Secure the sensor to the
tube using the 8-32 Button Head Bolt (#8) and the 3/4”
washer (#9).

13. Install the weather strip (#5) onto the top of the CAB

as shown starting near the radiator and working your way
towards the fender.

11. A.) Place the CAB it the original location of the 12.Install the Windstorm Premium Filter (#1) onto the
Factory Air box and secwe using the factory hardware Filter adapter and tighten the clamp.

from step 4. B.) Slide the coupler and clamps onto 90

deg. Elbow pipe and tight-n the clamps. C.) Reconnect

the Air Temperature Sensor.

14. Double check vour work!

Make sure there is no :oreign material in the intake path. Make sure all clamps, hoses, bolts, ind
screws are tight. Doubte check the hood clearance!

Reconnect the negative battery cable!




